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MEAN DEVIATION




Solution:
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For rectan gular distribution,
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Problem:
rec tan gular distribution over the do

find 1ts G.M.
2
Solution: E(log X) :jlog X dx
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.. Geometric mean = antilog(2log2-1)=0.4



lProbIem: A random variable X has the @

Kk, —2<Xx<2

f(Xx) =+ _
0, otherwise

i) Deter mine the constant 'k'ii)What is the value of P(|X|>1)?

Solution: 1) Since, f(x)isa p.d.f, so, j f(x)dx =1

2
or, jk dx =1or, k[x]’, =1o0r,k[2+2]=10r, k =%
2






Problem: If X is uniformly distributed o
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Solution:







